ZEEITE 1 SR

B E EREE
& 5 &EE
= =JL =
B - B @%-%-‘}ﬂz—% = §§ Ef B3 E+ %%
R E Sk
F LM EOSEEEE () (A RERTHIRE K S s TSRt
EE&E ¥24,064,000. - e N EEE
£ X IBH CETHI~EANTRE R
L H B ZHWOEHMNS260BR (B)SH 6F 2B 22H ~ (BE)SHM 6F 38 28H
SROERE | KBRS
ZAB/E
AEBEE. EIT~BABFTRGHAOAR - 8|5 LOEBISERIT BRKEORRE, I
VICEEASICHES N T\ BEKERIS DT R D S At £ =T 5725, BHHED
52 ABAEBEFERUEEDTT .
wiiEE=s | % 3
e ot AR CERIR. MY
B, BisE. it T=
WhEREEE  R—UUJT. BUERAR. -
+ERE. RIS T
SRS A IR ERst s B & 8 e =
" AR HEEERSt BIERs s
" EEst (EAT) s
i BkEsRst (BIMIT) s

®m B M oK

18

5




wiEE W X F0-0001
EX T B2 BET/KER
RETEL EHHREE L3 99999999999
EEEH 0
R£4
& R E RS 1 EreHm
18 R Bl R A (B1) #HR
B ifiER A 00-05. 12. 15(0)
ERERR 4 £BFRH
T74ILE 9999999999944 ZHEEHBEIHSIEIHNEKERERAERER
4 f# K B R
ATHhEE 35
AEFERIRA 00 BZavHILaY bk
ZHiEE 00 ZHAEELL
REERIRS 00 BHavHILEU b
REXEERS 09 B/LEIF
TiEEE
& ZIEE | £F
A KBER® 0 KEBERL
1 KEERY
B IWUMMHIBEZ®ZRS 0 IUWMBHIEE®MA AL
1 IWMRBHIEE®Z HY
C BHRYKE[M]
99999999999 E B H oK E B




©EE s = R
& B TEifitk BEMALE | FEIFE
EXE BE

””””””””””””” 3,725000 | 372,500 4,007,500
== wERENSE® 00 0
26, 470, 400 6, 208, 000 620, 800 6, 828, 800
xIzg gEwEE
1,480, 000 148, 000 1,628, 000
WsIzg®d | | gEtg®% 0
12,651, 000 1,265,100 13, 916, 100
HERVEBRE 00000 $BEEY |
26, 470, 400 24,064, 000 2,406, 400 26, 470, 400

Rt R UHIES

WRHEER

EHRE

IEHE

HaIEE

23

IE =]

-7

IE =]

99999999999

# B W K B B



s = N 5 ¥
Al = U = B B RN R X H0-0003
BE - TB- BIEHGE % B | 2& | & g & & # z
s X1000
HERE | Y1S41110110
e ( 1,859,097)
2,090, 438
Besug Y2841110110
T A ( 575135)
646, 057
RERUE Y3541110110
e ( 187,000)
220,229
4BREANE Y4S41110140
T e ( 187,000)
220,229
LREESNE SA265
5 O 00
g CUCTen 000 )¢ 187, 000)
| 1 % 220,229 2201229 | I %0 -00012%
kg Y3841110210
T e (388,135
125,828
KIS Y4841110210
e (  12.18)
14,164
ARKERE (LALEIZED) $A300
- o U 00
EBL T ST 187 )¢ 12,187)
| 1 Y 14,164 14164 | T %0 -00028%
KESBE Y4841110220
7777777777777777777777777777777 ( 375,948)
111,664
KERBE KRBBLUM) VSA300
T O U 00
| (93987 ) 375, 949)
BAHERSRAMARE 1-2-14 4 & 102, 916 41664 | T %0 -00038%
i3S Y2841120110
e ( 520,454)
590,183
99999999999 & B oMok E B




A 28 kR U A B & W R X H0-0004
BE - T - BI&HGE % B B4 % g & & # =
e Y3841120110
e e ( 520454)
500' 183
BHE Y4541120110
T ( 520,454)
590' 183
A=0,B=0
%sﬁ@ (1THb: Y OfHEEEL) wes
#R1/500 T | U 520,454 )| 520,454)
| 1 = 590, 183 590,183 |#T %0 -00042%
GRS Y2541130110
T (763,508
854198
BiEAIE Y3541130110
e e (763,508
854198
BigE Y441130110
T 0 S I S N B
| ( 408, 877)
459188
fEEHE (BEUR) Sho0
| I R 90,780 )[(  90,780)
1 £5% 90, 780 00,780 |$ET %0 -00072%
WEE (BEAE) SA105
2 ] S A B 00
b (18,420 ) 21,315)
| 0.18 fm 129, 669 23340 3T %0 -00082%
T SAT15
el 00
b (206,830 ) 37,229)
| 0.18 fm 233923 12,106 | 6T %0 -00092%
1p8E Sh120
R ] N A B 00
b (206,028 ) 37,085)
| 0.18 fm 241,773 13519 |6 %0 -00108%
FOBAE SA125
1 L N 00
M (250,692 ) 45, 120)
| 0.18 fm 301,832 54329 | %0 -00112%
EEVMBENE $A130
T ] S A B 00
b ({79,730 ) 32, 249)
| 0.18 fm 206, 446 37160 | %0 -00122%
99999999999 B B Mok E B




v A B & N R X 20-0008
BE - TH - EIZHALE % B s4 | B i & g # £
g SA135
S O 00
o (288,250 ) 51, 885)
| 0.18 km 333, 648 60,056 |$ET %0 -00138%
g SA140
= 00
it (517,870 )¢ 93,216)
| 0.18 km 599, 434 107,898 |6 %0 -0014B%
B Y4841130110
=e4s
| ( 244, 294)
283,223
RRE BEID SA105
= 00
it (142,104 )¢ {5, 631)
| 0. 11 kn 155, 602 17116 | %I %0 -0158%
_— SA115
L o U 00
o (206,830 ) 2, 751)
| 0. 11 kn 233,923 25731 [T %0 -0098%
1 PBE SA120
= 00
it (251,812 )¢ 27,699)
| 0. 11 km 295,500 32,505 [T %0 -00168%
FORAE SA125
o U 00
it (334,25 )¢ 36, 769)
| 0.11 km 402, 443 14268 1T %0 -00172%
EEVMBENE $A130
= 00
it (214,95 )¢ 23, 645)
| 0.11 km 247,73 27250 [T %0 -00188%
san SA135
L o U 00
it (345,900 )¢ 38, 049)
| 0. 11 km 400,377 14041 [T %0 -00198%
g SA140
= 00
it (725,018 )¢ 79, 751)
| 0. 11 km 839, 207 02312 |$T %0 -0208%
RIS Y4694
T e (110,33
111,787
WEISRES WRIEHOHOED) SA480
E S S S A B 00
| (4810 ) 34,927)
0.8 | ha 43, 981 3,624 | %0 -00218%
99999999999 B B MOk E B




pill A B Z W R % R0-0006
BE - T - HILHAE w B | a#@ | @ | & & # %
OB RRGHE SA435
3 T O N 00
| (50,850 )( 18, 478)
| 0. 81 ha 60, 448 48962 | 1T %0 -02=%
AREEERREER SMsE
‘ I N 33,250 )| 26,93
0. 81 ha 33,582 21,201 |#T %0 -0082%
EEEES b
T e (1,859,097
| 2,000, 438
e | 1634722=0000438+0. 782
HEE---2,00438 L
= 1,634,722
EEES L
3,725,160
SHEEH | (£58)
3,725,000
99999999999 B B W oKk E B




N = N = -
B 2 B U H B & N R X R0-0007
BE-IE-EI&HLE # g R | % i i %
WHBE (R X2000
WEHELRE Y1842110110
ERNEE (EReBERCGERERE®) |\
: 3,081,276
HERE (g Y2842110110
2,276,216
BHA—Y Y3842110110
1,752,800
MR- Y Y4$42110110
1,752,800
K- Y (EEA—) ) $B700
‘o66m fEL-O0y L 00
HALBE 1A%Y50mLT
: 8.0 m 14, 200 113,600 | T %0 -00248%
WHR—) VT (TER—) V) $B700
p66mm  E-BEX Ll ... 00
CALEE 1H%Y50myT
‘ 8.0 m 17, 200 137,600 |#%T %0 -00252%
A=Y VT (TEA—Y YY) $B700
o66m EECYE® L 00
HALBE 1A%Y50muT
! 8.0 m 33, 400 267,200 | T %0 -00262%
WA= T (BER—) L) SB701
peemm  EBHE Ll 00
HALEE 1A%Y50muUT
‘ 8.0 m 33,200 265,600 | T 0 -00272%
A= VT (B V) SB701
o66m fEE L 00
HALBE 1A%Y50mLT
! 8.0 m 41,200 329,600 |HET %0 -00282%
R -0 (EER - - 07 $B702
p8e6mm  FHEEX-IAN Ll 00
HALEE 1H%Y50muT
‘ 8.0 m 14, 600 116,800 |#%T %0 -00202%
B - (LER - - ) $B702
o116m ®-BHEX 00
HALBE 1A%Y50mLT
! 8.0 m 22, 600 180,800 | T %0 -00308%
99999999999 BB WOk B B




A 2 B O & B & W R % 50-0008
BE - T ETEHGE % B B @ B | & # i# %
BHA -0 (REK -0 - ST $B702
o11em MECYX®R Ll 00
HALEE TRLY50mUT
| 8.0 m 42,700 31,600 T 20 -00312%
$uAY LY Y3842110210
131,200
Yoy Y4342110210
131,200
Eit“ AR -147 3- Cot-I0T U0) SB71 % .
2 & 26, 400 52,800 | T 0 00328
PR 5 (N7 T ) w1
2 & 39, 200 78,400 | T 0 00338
YT LY - BHERE Y3342110310
241,520
B ERE Y4342110320
241,520
EEEARR $B720
B S S K R I 00
| 8 Bl 7,160 57,280 | T 0 -0034E%
EEE AR $B720
wewEr L 00
| 8 B 9,430 75,400 T %0 -00BER
EEEARR $B720
T K R I 00
| 8 @ 13,600 108,800 | T 0 -00362%
RFSNELE Y3342110410
150, 696
BRSHELH Y4342110410
150, 696
99999999999 BB W Ok E B



B 2 B U H B & N R X R0-0009
BE-THE- HEI&HGY # 2 g & B & £ i# &
RIFSHELE ANBELYELD B0
1 5% 75,348 75,348 | BT 0 -00372%
RRETELS BERSORH w32
1 5% 75,348 75,348 | BT 0 -00382%
- Y2542310110
805, 060
THLEHR ¥3342310110
805, 060
— Y4342310110
805, 060
THTOTERE  JI1SA1202 1650
NMEecoE3@® Ll 00
: 6 gl 5,930 35,580
TOBKHER  JISA1203 T1651
31.%?:‘%’4(:0%31@ ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 00
| 6 s 1,520 9,120
TOMERR (1) J1SA1204 T1652
ey T S N N RO 00
: 6 gl 13,900 83,400
TORERAFEE JISA1205 T1657
31Eﬁ¥4(:0§4~6,¢.\ ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 00
| 9 s 7,580 15,160
TOBEBFHE  JI1SA1205 T1658
MEsicoE3@® Ll 00
) Sl 3,680 7,360
TOEEBERR A% (JEXH) T1664
31.%?:‘%’4(:0%31@ ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 00
| 4 s 3,760 15,040
SHERRS (1) FETEHKHER 11675
T(UURB) stk sd |l 00
: 4 gl 25,000 100,000
99999999999 =8 W ok B B




: = N 5 ~
B =2 R U A B & N R X F0-0010
BE - T - HILHAE % 8 |wa | & | & & # =
SHERRR (2) EEHARR TI676
T(cos® ammmomd 0 00
4 s 63,900 255, 600
TREERE HUARE F0050
H—noar wE Ll 00
RBNIE12APSTO AR 2APNL 6 @ 6,900 41,400
ERATHR HEERE F0020
w—uvyay ®E Ll 00
B2 APST0, B EH12API14 6 @ 10,500 63,000
THEEHRE ERBERR F0030
) S 00
RBNIE12APSTO AR 2APIL 12 I 1,900 142, 800
ERERRR BERR F0040
A PO E 00
RRIE2APST0, AR 28R4 12 I 3,050 36, 600
ETHENRE () 70014
Gy 99, 000
| 09000 99494=4. 7% (3081000/1000) “0. 38+1000
wgag---3,081,00 L
| 99, 000
EEEET |
99, 000
ESHERH
3,180,276
EE 20001
Gy 41,944
BiER Y2542000110
41,944
BHRESER (LU F5v2) SB275
2tf 2.9t L 00
4 z 10, 486 4198 | T 20 -00392%
99999999999 R m oK E B




H = v B B E N IR X A0-0011
BE - TE- BIAHAL % 8 |wa | & | & & # %
e 70002
% 378, 160
ZOMMERER Y2542000210
378, 160
FOMRBTESR ERRUHEM T $B790
e A PO E N 00
1 2% 261,500 261,500 | T %0 -00402%
TOMMEEER BEANE $B796
) S 00
2 1R 6,530 13,060 |fET 40 -0041B%
ToMmETEE BHEe $B794
wBS 00
! 2 kil 51,800 103,600 |#T =0 -00422%
R 70003
% 126,400
T Y2542000310
126,400
RARS $B780
TEMTE B0, 3mMF 0 |l 00
K UTRE 5O0mblT )
! 2 1) 63,200 126,400 |#T %0 -00432%
ZeR | 20004
| 2 362, 500
TEREERAS R0900
0.0l 00
| 2 A 14,500 36, 500
T EEE | 22261=3180276%0. 007
ii—j ...... , , 76 77777777777777777777777777777777777777777777777777777777777
| % 22, 961
MEREEH
931, 265
99999999999 R m oK E B




A = v #H OB & R R X H0-0012
BE - I - BIEHGE % 8 | B& | = & & & # =
HUERE |
| 4,111,541
—— 2096885=4111541%0. 510
sg@-- 4115
% 2,096, 885
LR
6,208, 426
SN | (FH0)
6, 208,000
99999999999 BB T Ok E B




: = N 5 ~
B =2 R U A B & N R X R0-0013
BE - T - HILHAE w 8 Bm | & & | & & # =
Y X5000
BRSHELS Y1545111100
EEEE (EReRfRC<EEE® 0 |
| ( 588, 310)
588 310
R SUELH Y2545111100
T e ( 588,310)
588, 310
RHFSHE (THEE Y3545111100
... ( 588,310)
588 310
RESUERE Y4545111100
T ( 588,310)
588310
RFSHELE BRABORE - BHEE $B289
ER AR BEFEmEERRY 0 | 00
| (8850 83, 850)
1 235 83 850 83850 |f5T %0 002K
RESHELEE SHBELYELD SB291
e O P 00
(5016 ) 65.016)
i 235 65016 65,016 | 15T %0 -00452%
RRETELS BERSORH 5255
‘ e 62,244 Y[ 62,244)
i 235 62 244 62,244 | 15T %0 -00462%
RESHELEE LERFEYELD $B296
ER AR BFERaERRY 0 | 00
H¥HEE 0~37 (200 ) 377, 200)
| 1 3% 377/200 377200 | T 20 -00412E
ETHEMERE (E) 70014
Gy 57,000
| 57000 57535=5. 1% (588000/1000) “0. 38+1000
wgaE---588,000 |
| 57,000
ERERT |
57,000
99999999999 R m oK E B




B 2 kR U H B & R R X R0-0014
BE - T ETEHGE E 2 B | & & # %
B
******************************* (5883100
645, 310
ZOMEE | 316804=588310+0. 350/ (1-0. 350)=588310+0. 5385
Pt NN 588,310 |
‘ = 316,804
AR
962,114
- pEERS 518098=962114%0. 350/ (1-0. 350)=9621140. 5385
sgEE-- 962,114 L
% 518,098
S EL R
1,480,212
SHEEH | (£58)
1,480,000
99999999999 BB W oKk E B




Al = U R B & N R X H0-0015
BE- T BI&HLRS e g B oM | & # # £
SEET X6000
mﬁﬁ%ﬁ% Y1846111100
EREE (EReBERC<ERE® 0 || ||
(" 5,248,933)
5. 265, 033
BE ST (ROB#EE, KBRS Y213X005997
T e ( 4.679,483)
4,679, 483
AOBSET, RABHRET Y32EA006012
... ( 4.679,483)
4,679, 483
BAEHS (KOE ¢400mblt) Y4346111100
wRBRMEH 0
| (4,679,483 )I( 4,679,483)
1 =y 4,679, 483 4,679, 483
?’Eﬁl,fuxrﬂr (ROR#E) VZ$1000
7( A& e00mm ) Ll ____ 00
C(BRERHAD) (237,219 ) (2,317,219
EHLE (2 P23 1 = 2,317,219 2317219 | BT 0 -00482%
HETHEERH (KOEHEE) VZ$1001
7( A& e00mm ) Ll ____ 00
C(BERHAD) SO BT 104 ) 517,104)
‘;m\ (E28) P213 1 = 517,104 57104 | T 20 -00402%
@a%;au EAGREH) VZ$4000
(700mmu'F) ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 00
(187,807 )« 187,807)
;;m\n #08) P21 1 = 187807 187,807 | 46T 0 -00502%
RKERH (RRBRARH) VZS1100
AO# (RU&400mLdt) Ll 00
| (1,006,693 )/(  1,006,693)
EHBE () P.207 1 = 1,006, 693 1,006,693 | T %0 -00512%
T VZ$0700
) 00
: T8 150 318, 150)
EBULE (H28) P211 1 = 318,150 318,150 | BT 0 -00522%
SR £ OB vzso%o
I N [ 332510 )/ 3325100
BHERSHHEERE 3-2-60 £7 1 e 332,510 332,510 | BT 0 -00532%
TAE | Y2546181100
... (" 560,450)
585, 550
99999999999 BB W ok B B




A 2 B O & B & W R % H0-0016
BE I8 EI&HAE % B B4 % g & & # =
At Y3546181100
e e (569,450
| 585, 550
A Y4346181100
T (569,450
585, 550
NAE (BNEE) (BESEREST) $0050
TAUERIE EEAEEERO 0 | 00
BESHA (RERFENELNLEL) IO 569,450 )¢ 569, 450)
| 1 E 585, 550 585,550 |fET %0 0042
ETHEMERE (D) 70014
= 132, 000
ETREBHER YZ546001410
132, 000
EFHENERE (ZOROBHER) $0905
ERARBAN BEEABEER) | 00
| 1 8 132,000 132,000 | 6T %0 -00552%
ERERE |
132, 000
BRI
7777777777777777777777777777777 (5248933
5397033
L OBEE 2826550=52489330. 350/ (1-0, 350) =5248933+0. 5385
SR 5248033 e
| # 2, 826, 550
<A
8,223,583
I 4428399=8223583%0. 350/ (1-0. 350) =8223583+0. 5385
I T < R e I R R
| # 4,428,399
351615
12, 651,982
99999999999 B B ok BB




Al = U R B & N R X =0-0017
BE - TH - BIARGY % 8§ | B&@ & @ | & B # =
RN | (E50)
12, 651,000
£ |
24,064,000
o 2406400=2406400040. 10
g AR L064.000 L
| % 2, 406, 400
EEa
26, 470, 400
99999999999 BB T Ok E B




I W R K R0
% KL 2 B @& ¥ i & ] fis E4
3 N:[TE=R 50 000 2
AREESNE BT 500183
54265 1 =%
4
T i
AISHE (5h%) 44,000 (242,000 )|R1020
[55%] 5.50 A 44, 000 242, 000
6-0.5
AEHWE HE) 34,300 ) 188,650 )|R1030
[60%] 5.50 A 34, 300 188, 650
6-0.5
ASHE () 32,200 )C 225,400 ) |R1040
[55%] 1.00 A 32,200 225, 400
AETHEBEM (RE) 51,000 ) 51,000  )|R5010
[60%] 1.00 A 51, 000 51,000
AS (%) 44,000 ) 110,000 ) |[R5020
[55%] 2.50 A 44, 000 110, 000
AEHHHE (WD 34,300 ) 85,750 ) |R5030
[60%] 2.50 A 34, 300 85,750
ASHF (%) 32,200 ) 32,200 ) |R5040
[55%] 1.00 A 32,200 32,200
BHeg #01
3.00 % 935, 000 28, 050
HHE #01
2.50 % 935, 000 23,375
BEERE #01
3.00 % 935, 000 28, 050
RBETEE #02
8.00 % 963, 050 86, 674
LiLE 935,000 (935,000 )|+00
1,101, 149 1,101, 149 1101149+
99999999999 ' B8 H K E B




BT R R E R

2 - BB & & # E B | i & i ] z
EELRY ( 935,000 )( 187,000 )|+00
1,101, 149 220, 229 1101149%0. 2
(187,000 )

Kok ok BETSEY k% k 1 =% 220, 229

A=3 Hiih

B=1 Tih

=2 EEEL

D=7 fE%8 (R)

E=1 BHEESIEEREERE 1-2-5

#HfE=7 / 35

=0. 2000

=0.20 UMASEMIEAA)
FbE=1.0 + 0.000

=1.000

99999999999 B2 5§ W K B B



I W R K AL
% KL 2 B @& ¥ i ] fis E4
& : = & mEA =]
ABKEHE (LALEIZED) BT 30 s
SA300 1 =8
it
EBEL T
AS ¥ ( 44,000 ) 17,600 ) |R1020
[55%] 0.40 A 44, 000 17, 600
ASHMmE (1P ( 34,300 ) 13,720 ) |R1030
[6 0%] 0.40 A 34, 300 13,720
AEHF ¥ ( 32,200 ) 22,540 ) [R1040
[55%] 0.70 A 32,200 22, 540
AETHEBEM (RE) ( 51,000 ) 5,100 ) |R5010
[6 0%] 0.10 A 51, 000 5,100
AS (%) ( 44,000 ) 17,600 ) |R5020
[55%] 0.40 A 44, 000 17, 600
AEHME  (RE) ( 34,300 ) 13,720 ) |R5030
[6 0%] 0.40 A 34, 300 13,720
HHE #01
3.50 % 90, 280 3,159
HuEeE #01
2.50 % 90, 280 2,251
BIEENE #01
1.00 % 90, 280 902
REEEE 1#02
.00 % 92,537 8,328
LiLE ( 90,280 )( 81,252 ) |+00
104, 926 94,433 104926+0. 9
15%~-Y ( 81,252 )( 12,187 ) |+00
94,433 14,164 94433%0. 15
99999999999 ' B8 H K E B




B I W R = R0

B L] {ii & BB Z

hel

2% - B nl #

ok ok BITEY kok %

AMBKERNE (LALFIZED)
Hit

EBRE Fih
%5 (km)
RHEFSELERERE 1-2-11

TEERT
—Oo—=cwnr
[
=)

BE{E=0.290 /2
=0.15
FleE=1 + -0.100
=0.900

99999999999 B2 5§ W K B B



8 I M R % Aoz
2 - BB & & # £ B @& i & ] fis z
3 =N > a6 S&b 1 &0 00025
KERZE (GKAEHLS) BT 0 -W055%
VSA300 1 s wEE B EEAR : 054128150
AISHE (5h%) 44,000 )( 13,200 ) |R1020
[55%] 0.3 A 44, 000 13, 200
AEHHE (D 34,300 ) 41,160 ) |R1030
[6 0%] 1.2 A 34, 300 41,160
AEHF ¥ 32,200 ) 9,660 )|R1040
[55%] 0.3 A 32,200 9, 660
AEWHE  (HE) 27,000  )( 16,200 ) |R1090
[6 0%] 0.6 A 217,000 16, 200
AEHHHE (NP 34,300 ) 34,300 ) |R5030
[6 0%] 1.0 A 34, 300 34, 300
ASHF (%) 32,200 ) 25,760 ) [R5040
[55%] 0.8 A 32,200 25,760
BHRER #01
1.5 % 140, 280 2,104
HBERE R #01
5.0 % 140, 280 1,014
MHER #01
3.0 % 140, 280 4,208
FEREBE 140,280  )( 93,987 ) |00
153, 606 102, 916 153606+0. 67
( 93,987 )
ok ok BT ok ok 1 =1 102, 916
99999999999 ' B8 H K E B




B I W R K Ao
% F I R # E B B i & E E
PIE . = A = e
Bl (1IEH-YDERFEZESD) BT %0 -00U8%
SA183 1 =%
i
ER1,/500 T
BiAE (fF£RE) ( 33,690 ) 33,600 ) |sA180
Hi 1.00 $£% 33,690 33,690
HR1/500 Tt
I #0-0005B%
BibAlE ( 486,764 ) 486,764 ) |sA181
Hi 1.00 =8 556, 493 556, 493
#R1/500 T
I #0-00068%
(520,454 )
Kok ok BETSEY k% k 1 = 590,183
=3 Hih
B=5 #R1/500 Fi
€=0. 0131 X8 (km2)
D=1 R EBEEERERE 1-2-72
99999999999 = B8 Hh K B B




T MR E RO

2 - BB & & # £ B @& ¥ i & ] fis E4
N-E=D = =0 00052

Iﬁ.ﬂﬂ/ﬂ“i (1"5%51'@) BT %0 -00058%
SA180 1 £%
3t
ER1,/500 T
AETHEBEM (RE) ( 51,000 ) 10,200 ) |R5010

[6 0%] 0.20 A 51, 000 10, 200
AEBEH (H%) ( 44,000 ) 13,200 ) |R5020

[55%] 0.30 A 44, 000 13, 200
AEHHE (RD ( 34,300 ) 10,290 ) |R5030

[6 0%] 0.30 A 34, 300 10, 290
FlEEFL-E ( 33,690 )( 33,690 ) |+00

33, 690 33, 690 33690%1
( 33,690 )

Kok ok BETSEY k% k 1 7% 33,690

A=3 Hhitth

B=5 #R1/500 Fi

0=1 BHERSIEEREERE 1—2-72

Z & ®=1+0.000
=1.000

99999999999 B2 5§ W K B B



8 I M R % R0
% KL 2 B @& ¥ i & ] fis E4
W E =0 _AneS
Iﬁ.ﬂﬂ/ﬂ“i I %0 -00062%
SA181 1 =%
3t
ER1,/500 T
AISHE (5h%) 44,000 (268,400 )|R1020
[55%] 6.10 A 44, 000 268, 400
AEHWE HE) 34,300 ) 322,420 )|R1030
[60%] 9. 40 A 34, 300 322,420
ASHE () 32,200 )( 264,040 ) |R1040
[55%] 8.20 A 32,200 264, 040
AETEHE (RE) 51,000 ) 15,300 ) |R5010
[60%] 0.30 A 51, 000 15, 300
AISHE (W) 44,000 (136,400 )|R5020
[55%] 3.10 A 44, 000 136, 400
AEHHHE (WD 34,300 ) 274,400 ) [R5030
[60%] 8.00 A 34, 300 274, 400
BHeg #01
6. 50 % 1,280, 960 83, 262
BEERE #01
0.50 % 1,280, 960 6, 404
HHE #01
2.00 % 1,280, 960 25,619
REEEE 1#02
5.00 % 1,364,222 68, 211
TEEFELIE 1,280,960 )( 1,280,960 ) |-00
1,464, 456 1,464, 456 1464456%1
ExELY 1,280,960 }( 486,764 ) |+00
1,464, 456 556, 493 1464456+0. 38
99999999999 ' B8 H K E B




B T M R % o

2 R L &£ % E B B i & B | B Z
(486,764 )

Kok ok BETSEY k %k 1 = 556, 493

A=3 Hit

B=5 #R1/500 T

(=0.0131 {E%8 (km)

D=1 FAEBEREREEE 1-2-73

EEEHIE=(718.95 = 0.013 + 28.105) / 100
=0.38 (/MR3EMmIBHEA)

% £ %=1+0.000
=1.000

k k k k Kk k k Kk Kk k k Kk ¥k %k k k )k k k k k| k k k )k sk k k *k k|k k *k ¥k *k k k ¥k %k k )k *k %k k k|k k )k k )k k k *k *k pk k k ¥k ¥k *k ¥k ¥k ¥k k¥ k

fEXREHE (BRRHE)

BT 0 -00078%

SA100 1 £%

AETEHE (RE) ( 51,000 )( 30,600 ) |R5010
[60%] 0.60 A 51, 000 30, 600

AEHEH (%) ( 44,000 ) 39,600 ) |R5020
[55%] 0.90 A 44, 000 39, 600

AEHHHE (R ( 34,300 ) 20,580 ) [R5030
[60%] 0.60 A 34, 300 20, 580

( 90,780 )

Kok ok BETSEY k% k 1 % 90, 780
A=1 BHERSIEEREERE 1-2-16

99999999999 B e H Kk B B




B I W R = Ao

20 - B2 L # E B | i & 2 | & z
) AIE 0 N

HihHE (BRigAE) BT 0 -W0068%
SA105 1 km
Fih
i
AERE ) ( 44,000 ) 70,400 ) |R1020

[55%] 1.60 A 44, 000 70, 400
AEHHE (D ( 34,300 ) 48,020 ) |R1030

[6 0%] 1.40 A 34, 300 48,020
BHRE #01

2.00 % 118, 420 2,368
MHE #01
1.50 % 118, 420 8, 881
EikE ( 118,420 (118,420 ) |+00
129, 669 129, 669 1296691
(118,420 )

Kok ok BETSELY k% k 1 km 129, 669

=1 Fith

B=3 Hih

=3 1FE8XE /1 26BH

D=1 R EBEEEEERE 1-2-16

#LE  =1+0.000+0. 000=1.000
iz =0.000
ZEE=0. 000

99999999999 B2 5§ W K B B



T MR E R
& b I - E B oA i 2 # | B
%%ﬂggki BI %0 -00095%
SA115 1 km
i
3t
AETERE (W) 51,000 )( 20,400 ) |Rs010
[6 0%] 0.40 A 51,000 20, 400
B ST CES 44,000 )C 114,400 ) |R5020
[55%] 2.60 A 44,000 114, 400
e IRGES) 34,300 ) 72,030 ) IR5030
[6 0%] 2.10 A 34,300 72,030
BHRE #01
1.00 % 206, 830 2,068
HHE #01
2.00 % 206, 830 4,136
KEEES #02
10.00 % 208, 898 20, 889
& 206,830 ) 206,830 ) |+00
233,923 233,923 233923+1
(206,830 )
Kok ok BETSEY k% k 1 km 233,923
A=1 Tih
B=3 Hit
C=1 RHEFSELERERE 1-2-18
7k 5&=1+0. 000=1. 000
#hF2=0. 000
99999999999 g2 B K & B




8 I M R % R0
2 KL # £ B @& i & ] 1%
I PEQIE BT 0 -00108%
SA120 1 km
T i
3t
AISHE (5h%) 44,000 )( 61,600 ) IR1020
[55%] 1.40 A 44, 000 61, 600
AEHHE (D 34,300 ) 48,020 )|R1030
[60%] 1.40 A 34, 300 48,020
AEBF ¥ 32,200 ) 32,200 ) |R1040
[55%] 1.00 A 32,200 32,200
AEHEH E) 44,000 ) 52,800  )|R5020
[55%] 1.20 A 44, 000 52, 800
AEHHHE (NP 34,300 ) 34,300 ) |R5030
[60%] 1.00 A 34, 300 34, 300
HuEeE #01
3.50 % 228, 920 8,012
HHE #01
3.50 % 228, 920 8,012
RETEE #02
10.00 % 236, 932 23,693
LiLE 228,920 )( 206,028 )|+00
268, 637 241,713 268637+0.9
(206,028 )
Kok ok BETSEY k% k 1 km 241,773
A=1 Tih
B=3 Hhith
=1 HingmEdigg o
D=3 1FE8KE /126K
E=1 BHERSIEEREERE 1—2-138
ZkE  =1+0.000+-0. 100+0. 000=0. 900
#F  =0.000
5 3=-0. 100
ZE=E=0.000
99999999999 ' B8 H K E B




8 I M R % R0
2 - BB & & # £ B @& i & ] fis z
El:"[::‘ﬁl,ﬂ']% BI %0 -00112%
SA125 1 km
Tih
4
AISHE (5h%) 44,000 ) 110,000 )|R1020
[55%] 2.50 A 44, 000 110, 000
AEHHE (D 34,300 ) 96,040 ) [R1030
[60%] 2.80 A 34, 300 96, 040
AEHF ¥ 32,200 ) 70,840 ) [R1040
[55%] 2.20 A 32,200 70, 840
AEHEH E) 44,000 ) 79,200 ) [R5020
[55%] 1.80 A 44, 000 79, 200
AEHHHE (NP 34,300 ) 61,740 ) |R5030
[60%] 1.80 A 34, 300 61, 740
BHeg #01
4.00 % 417,820 16, 712
HHE #01
6. 00 % 417,820 25, 069
RETEE #02
10.00 % 434,532 43, 453
LiLE 417,820 ) 250,692 ) +00
503, 054 301,832 503054+0. 6
(250,692 )
Kok ok BETSEY k% k 1 km 301,832
=1 Tih
B=3 Hhith
0=1 HehigHmEs o
D=4 B AR5 Om
E=3 1FEKE /1 26KHM
F=1 REAEHSEERELE 1-2-10
99999999999 B e H Kk B B




I MR X R0

2% - B nl # B L i S

5
&
i

hel

TE  =1+0.000+-0. 100+-0. 300+0. 00=0. 600
i =0.000

Hh#R%%  =-0.100
A = FRz=-0. 300
TEE =0.000

99999999999 B2 5§ W K B B




8 I M R % B2
2 - BB & & # £ B @& i & ] fis z
1& B MEQE,EI]% BT H0 -00122%
54130 1 km
Tih
4
AISHE (5h%) 44,000 )( 44,000 ) |R1020
[55%] 1.00 A 44, 000 44, 000
AEHHE (D 34,300 ) 41,160 ) |R1030
[60%] 1.20 A 34, 300 41,160
AEBF ¥ 32,200 ) 28,980 ) [R1040
[55%] 0.90 A 32,200 28,980
AEHEH E) 44,000 ) 17,600 ) |R5020
[55%] 0.40 A 44, 000 17, 600
AEHHHE (NP 34,300 ) 37,730 )|R5030
[60%] 1.10 A 34, 300 37,730
AEBF (%) 32,200 ) 9,660 ) |R5040
[55%] 0.30 A 32,200 9, 660
BHeg #01
2.50 % 179,130 4,478
HHE #01
2.50 % 179,130 4,478
RBEEEE #02
10.00 % 183, 608 18, 360
LiLE 179,130 )( 179,130  )|+00
206, 446 206, 446 206446%1
(179,130 )
Kok ok BETSEY kk ok 1 km 206, 446
=1 Tih
B=3 Fhith
=3 1FEERE /1 26M
D=1 BHEBSEERTLE 1-2-10
99999999999 B e H Kk B B




T MR E RO

2% - B nl # B L i S

5
&
i

hel

#kE  =1+0.000+0. 000=1.000
g =0.000
ZEE=0. 000

99999999999 B2 5§ W K B B




T MR E RO

2 - BB & & # £ B @& ¥ i & ] fis E4
L YR B =N _ =]
%‘filﬂ??ﬂ“i BT =0 -0138%
54135 1 km
Tih
4
AS ¥ ( 44,000 ) 70,400 ) [R1020
[55%] 1.60 A 44, 000 70, 400
AEHHE (D ( 34,300 ) 61,740 ) [R1030
[60%] 1.80 A 34, 300 61, 740
AEHF ¥ ( 32,200 ) 45,080 ) |R1040
[55%] 1.40 A 32,200 45,080
AS T E) ( 44,000 ) 57,200 ) |R5020
[55%] 1.30 A 44, 000 57,200
AEHHHE (NP ( 34,300 ) 37,730 )|R5030
[60%] 1.10 A 34, 300 37,730
ASHF (%) ( 32,200 ) 16,100 ) |R5040
[55%] 0.50 A 32,200 16, 100
BHeg #01
2.50 % 288, 250 1,206
HHE #01
3.00 % 288, 250 8, 647
RBEEEE #02
10.00 % 295, 456 29, 545
LiLE (288250 (288,250 )|-00
333,648 333, 648 333648+1
(288,250 )
Kok ok BETSEY kk ok 1 km 333, 648
=1 Fih
B=3 Fhith
=3 1FEERE /1 26M
D=1 BHERSIEEREEREE 1—-2-20

99999999999 B2 5§ W K B B



T MR E RO

2% - B nl # B L i S

5
&
i

hel

#kE  =1+0.000+0. 000=1.000
g =0.000
ZEE=0. 000

99999999999 B2 5§ W K B B




8 I M R % R0
% KL 2 B @& ¥ i & ] fis z
faE kT = BT %0-08%
SA140 1 km
T i
4
AEBEH ¥ ( 44,000 ) 281,600 ) [R1020
[55%] 6. 40 A 44, 000 281, 600
AEHWE HE) ( 34,300 ) 246,960 )|R1030
[60%] 1.20 A 34, 300 246, 960
AEBF ¥ ( 32,200 ) 170,660 ) [R1040
[55%] 5.30 A 32,200 170, 660
AEHEH E) ( 44,000 ) 171,600 ) [R5020
[55%] 3.90 A 44, 000 171, 600
AEHHHE (NP ( 34,300 ) 116,620 ) [R5030
[60%] 3.40 A 34, 300 116, 620
AEBF (%) ( 32,200 ) 48,300 ) |R5040
[55%] 1.50 A 32,200 48, 300
BHeg #01
2.50 % 1,035, 740 25,893
HHE #01
3.00 % 1,035, 740 31,072
RBEEEE #02
10.00 % 1,061, 633 106, 163
ZiLE (1,035,740 ) 517,870 ) +00
1,198, 868 599, 434 1198868+0. 5
(517,870 )
Kok ok BETSEY kk ok 1 km 599, 434
=1 Tih
B=3 Hhith
=1 HehigEmms o
D=4 A AR5 Om
E=1 184 5mEiE
99999999999 ' B8 H K E B




B I W R =R R0

£z BB & & # E B | i & i ] z
F=3 1FE8XHE /1 26BH
G=1 BHERSIEEREERE 1-2-20

ZeE  =1+0.000+-0. 100+-0. 400+0. 000=0. 500

¥ =0.000

ghigs =0.100

5 - Fifz=-0. 400

ZEE =0.000

k %k k k %k %k k k k k k ¥k k ¥k ¥k ¥k ¥k )k )k )k *k

* %k k 3k k k k k X

* k k Xk X

k k k k % % )k )k k %

* Xk k k k k k k k

k ok ok ok ok ok ok k k Xk Xk

HMEE (BRRHE)

BT 30 -00158 %

SA105 1 km
T
3t
BEHE ¥ ( 44,000 ) 70,400 ) [R1020
[55%] 1.60 A 44, 000 70, 400
AERHE (D ( 34,300 ) 48,020 )|R1030
[60%] 1.40 A 34, 300 48,020
BHeg #01
2.00 % 118, 420 2,368
HHE #01
1.50 % 118, 420 8, 881
T (118,420 ) 142,104 )|s00
129, 669 155, 602 129669+1. 2
(142,104 )
Kok ok BETSEY k% k 1 km 155, 602
=1 Tih
B=3 Hhith
=1 3FELE /1 28E
D=1 BHEBSEERGRE 1-2-16
ks =1+0. 000+0. 200=1. 200
#E  =0.000
ZE=E=0.200
99999999999 w= B H oK E B




8 I M R % R0
2 KL # £ B @& i & ] 1%
I PEQIE BT 0 -00168%
SA120 1 km
T i
4
AISHE (5h%) 44,000 )( 61,600 ) IR1020
[55%] 1.40 A 44, 000 61, 600
AEHHE (D 34,300 ) 48,020 )|R1030
[60%] 1.40 A 34, 300 48,020
AEBF ¥ 32,200 ) 32,200 ) |R1040
[55%] 1.00 A 32,200 32,200
AEHEH E) 44,000 ) 52,800  )|R5020
[55%] 1.20 A 44, 000 52, 800
AEHHHE (NP 34,300 ) 34,300 ) |R5030
[60%] 1.00 A 34, 300 34, 300
BHeg #01
3.50 % 228, 920 8,012
HHE #01
3.50 % 228, 920 8,012
RETEE #02
10.00 % 236, 932 23,693
LiLE 228,920 )( 251,812 )|+0o0
268, 637 295, 500 268637%1. 1
(251,812 )
Kok ok BETSEY k% k 1 km 295, 500
=1 Tih
B=3 Hhith
=1 HingmEdigg o
D=1 3FEULE /1288
E=1 BHERSIEEREERE 1—2-138
ZikE  =1+0.000+-0. 100+0. 200=1. 100
#F  =0.000
5 3=-0. 100
ZEE=0. 200
99999999999 ' B8 H K E B




8 I M R % R0
2 - BB & & # £ B @& i & ] fis z
hMEA= I 0 -00172%
SA125 1 km
Tih
4
AISHE (5h%) 44,000 ) 110,000 )|R1020
[55%] 2.50 A 44, 000 110, 000
AEHHE (D 34,300 ) 96,040 ) [R1030
[60%] 2.80 A 34, 300 96, 040
AEBF ¥ 32,200 ) 70,840 ) [R1040
[55%] 2.20 A 32,200 70, 840
AEHEH E) 44,000 ) 79,200 ) [R5020
[55%] 1.80 A 44, 000 79, 200
AEHHHE (NP 34,300 ) 61,740 ) |R5030
[60%] 1.80 A 34, 300 61, 740
BHeg #01
4.00 % 417,820 16, 712
HHE #01
6. 00 % 417,820 25, 069
RETEE #02
10.00 % 434,532 43, 453
LiLE 417,820 ) 334,256 ) +00
503, 054 402, 443 503054+0. 8
(334,25 )
Kok ok BETSEY k% k 1 km 402, 443
=1 Tih
B=3 Hhith
=1 HingnEdigg o
D=4 B AR5 Om
E=1 3FEULE /1288
F=1 REAEHSEERELE 1-2-10
99999999999 B e H Kk B B




I MR X R0

2% - B nl # B L i S

5
&
i

hel

TE  =1+0.000+-0. 100+-0. 300+0. 200=0. 800
i =0.000

Hh#R%%  =-0.100
A = FfRz=-0. 300
TEE =0.200

99999999999 B2 5§ W K B B




8 I M R % RO
2 - BB & & # £ B @& ¥ i & ] fis z
1& B MEQE,EI]% BT 50 -00182%
54130 1 km
Tih
4
AISHE (5h%) 44,000 )( 44,000 ) |R1020
[55%] 1.00 A 44, 000 44, 000
AEHHE (D 34,300 ) 41,160 ) |R1030
[60%] 1.20 A 34, 300 41,160
AEBF ¥ 32,200 ) 28,980 ) [R1040
[55%] 0.90 A 32,200 28,980
AEHEH E) 44,000 ) 17,600 ) |R5020
[55%] 0.40 A 44, 000 17, 600
AEHHHE (NP 34,300 ) 37,730 )|R5030
[60%] 1.10 A 34, 300 37,730
AEBF (%) 32,200 ) 9,660 ) |R5040
[55%] 0.30 A 32,200 9, 660
BHeg #01
2.50 % 179,130 4,478
HHE #01
2.50 % 179,130 4,478
RBEEEE #02
10.00 % 183, 608 18, 360
LiLE 179,130 )( 214,956  )|+00
206, 446 241,735 206446%1. 2
(214,956 )
Kok ok BETSEY kk ok 1 km 247,735
=1 Tih
B=3 Fhith
C=1 3FEULE /1288
D=1 BHEBSEERTLE 1-2-10
99999999999 B e H Kk B B




T MR E RO

2% - B nl # B L i S

5
&
i

hel

ELE  =1+0.000+0. 200=1. 200
g =0.000
RZEE=0. 200

99999999999 B2 5§ W K B B




T MR E RO

2 - BB & & # £ B @& ¥ i & ] fis E4
L YR B =N _ =]
%‘filﬂ??ﬂ“i BT =0 -00192%
54135 1 km
Tih
4
AS ¥ ( 44,000 ) 70,400 ) [R1020
[55%] 1.60 A 44, 000 70, 400
AEHHE (D ( 34,300 ) 61,740 ) [R1030
[60%] 1.80 A 34, 300 61, 740
AEHF ¥ ( 32,200 ) 45,080 ) |R1040
[55%] 1.40 A 32,200 45,080
AS T E) ( 44,000 ) 57,200 ) |R5020
[55%] 1.30 A 44, 000 57,200
AEHHHE (NP ( 34,300 ) 37,730 )|R5030
[60%] 1.10 A 34, 300 37,730
ASHF (%) ( 32,200 ) 16,100 ) |R5040
[55%] 0.50 A 32,200 16, 100
BHeg #01
2.50 % 288, 250 1,206
HHE #01
3.00 % 288, 250 8, 647
RBEEEE #02
10.00 % 295, 456 29, 545
LiLE (288250 j( 345900 )|-00
333,648 400, 377 333648%1.2
(345,900 )
Kok ok BETSEY kk ok 1 km 400, 377
=1 Fih
B=3 Fhith
C=1 3FEULE /1288
D=1 BHERSIEEREEREE 1—-2-20

99999999999 B2 5§ W K B B
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2% - B nl # B L i S

5
&
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hel

ELE  =1+0.000+0. 200=1. 200
g =0.000
RZEE=0. 200

99999999999 B2 5§ W K B B




8 I M R % R0
% KL 2 B @& ¥ i & ] fis z
faE kT = BT %0 -0008%
SA140 1 km
T i
4
AEBEH ¥ ( 44,000 ) 281,600 ) [R1020
[55%] 6. 40 A 44, 000 281, 600
AEHWE HE) ( 34,300 ) 246,960 )|R1030
[60%] 1.20 A 34, 300 246, 960
AEBF ¥ ( 32,200 ) 170,660 ) [R1040
[55%] 5.30 A 32,200 170, 660
AEHEH E) ( 44,000 ) 171,600 ) [R5020
[55%] 3.90 A 44, 000 171, 600
AEHHHE (NP ( 34,300 ) 116,620 ) [R5030
[60%] 3.40 A 34, 300 116, 620
AEBF (%) ( 32,200 ) 48,300 ) |R5040
[55%] 1.50 A 32,200 48, 300
BHeg #01
2.50 % 1,035, 740 25,893
HHE #01
3.00 % 1,035, 740 31,072
RBEEEE #02
10.00 % 1,061, 633 106, 163
ZiLE (1,035,740 )( 725018 ) +00
1,198, 868 839, 207 1198868+0. 7
(725018 )
Kok ok BETSEY kk ok 1 km 839, 207
=1 Tih
B=3 Hhith
=1 HehigEmms o
D=4 A AR5 Om
E=1 184 5mEiE
99999999999 ' B8 H K E B
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hel

B
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SFALLL /1 2850
BARBSRERERE 1-

o> T
In 1

2—20

TE  =1+0.000+-0.100+-0. 400+0. 20
i =0.000
R =-0.100
iz - FlfR=-0. 400
TEE =0.200

0=0.700
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B I W R = R
2 - BB & & # £ B @& i ] fis z
ERHIES = ERHIES == = =]
iﬂ*ﬂ/ﬂ“iiﬂ'—i (ﬂﬂ*ﬂ/ﬁ“i X 0)%"@@[\'—7—-) BT 300058
54480 1 ha
4
AEHHE (R ( 34,300 ) 6,860 ) |R5030
[60%] 0.20 A 34, 300 6, 860
ASHF (H%) ( 32,200 ) 9,660 ) |R5040
[55%] 0.30 A 32,200 9, 660
AERHE (D ( 34,300 ) 13,720 ) |R1030
[60%] 0.40 A 34, 300 13,720
AEHF ¥ ( 32,200 ) 12,880 ) IR1040
[55%] 0.40 A 32,200 12, 880
HHeg #01
1.50 % 43,120 646
HHE #01
0.50 % 43,120 215
LiLE ( 43120 )( 43120 )00
43, 981 43, 981 43981%1
( 43,120
Kok ok BETSEY k% k 1 ha 43, 981
A=4 Hhith
B=1 BHERSIEEREERE 1-2-43
ZE{k2&=1. 0+0. 000=1. 000
Hhiz=0. 000
99999999999 B e H Kk B B




8 I M R % R0
2 KL # £ B @& i 5 1%
=S =F 50 -00222
DB KRR BT 0 -025%
54435 1 ha
4
AEHHE (R 34,300 ) 20,580 ) [R5030
[60%] 0.60 A 34, 300 20, 580
AEBF (H%) 32,200 ) 19,320 ) |R5040
[55%] 0.60 A 32,200 19, 320
AERHE (D 34,300 ) 10,290 ) |R1030
[60%] 0.30 A 34, 300 10, 290
AEBF ¥ 32,200 ) 9,660 )|R1040
[55%] 0.30 A 32,200 9, 660
HHeg #01
0.50 % 59, 850 299
HHE #01
0.50 % 59, 850 299
LiLE 59,850 )( 59,850 )|-00
60, 448 60, 448 604481
( 59,850 )
Kok ok BETSEY k% k 1 ha 60, 448
A=4 Hhith
B=1 RN EBHIZERERE 1-2-43
ZE{k2&=1. 0+0. 000=1. 000
Hhiz=0. 000
99999999999 B e H Kk B B




- = -
B I W R OE Ao
2 KL - 2 B | i il 5 1% z
[y il = I 4 t\\ . mEN =
NEFLREERRERK T 50 -058%
SA438 1 ha
AEREE  (WE) ( 34,300 ) 17,150 ) |R5030
[60%] 0.50 A 34,300 17,150
AEHF  (WE) ( 32,200 X 16,100 ) |R5040
[55%] 0.50 A 32,200 16,100
MHE #01
1.00 % 33,250 332
( 33,250 )
Kok ok BETSEY k% k 1 ha 33,582
A=1 BHERSIEERERE 1-2-44
k k %k k %k sk %k k ok ok ok k %k sk ok >k k sk %k >k k| k k k >k k >k k )k |k ¥k )k )k *k Pk )k k ¥k )k *k >k *k >k k|*k k %k k¥ *k >k %k )k k pjk ¥k )k *k ¥k k %k *k *k k %

mA—1) Vg (87

¢ 6 6mm
HATLEE

$hEL - Vb
THLY50mlTF

h—1) %)
1

I 0 -00248 %

TER-UUT (FESOmUT)

p66mm  HEL- L WETA

1.00

14,200

14,200

10300
14200%1

* % ok

* ok BfTE-Y

14,200

gL Vb
THEY 50mEl]
BETH

¢ 66m
HALEE
HARLAR

= O OO0 >
TR

RAERBERERERE 2-2

1

AERR=CAALEE (17.4Y) #HE
=1.000+1. 000
=1.000 (/pEE3fMmERA)

x AL HRBE

99999999999

' B M

XK E B
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